


Eadelt K- B P p <

1

A~ RN R AR My Py e R B T O e e SR~ = I

_& a..u .o .a\.. \9, \v. 2T W TS s.r ««_..
: csg.rﬂ.:m N N nc Y EV 2V W ocuuan:nms

R.ll ._i gt !‘l_

z..«.. X

| , Qﬂ.~ -s;,,,.k- w c.w.z
N ¢ (L i al 2 .;.

v ‘.$

L) , Aa \‘ .?. ~.J ; ,ﬂ g N

e 4 \L

wz




Follow the color of
the ribben cable
LINE

AR E R
¢5_!E»m:n uc W OV bY EV v ocuuannpms

PARACELL

9V BATTERY

RIBBEN CABLE



77.47

3.30

NV1Q WA1OJN CW-DECODER
C3 C4 r

000
000

LED1

2
da
u
i

o
&
s

50.79
43.18

O/O/o
59 KR By .

(e Qo Q
O\ xS\ INE

By ot

C1

SSWITCH

T
1
@)
M
I
3
T
O
e

3.81



o 1
2] )Y
3 A+ | -
Sv2
R10
-
1 3
20k
N
S X - Arduino Nano DISPLAY 16X2
vl 1o NE 1
2 TN TS Xi-1 L2 x13 1 1] vss I
ﬁ—ﬁ L 3NJC1A 31 D13 pL2 2 2 vpp N
v - + | o3 | — 33v DIl [— 3 2| VEE
1 | 0o X154 ! — AREF D10 [|— 4 4] ps
&™) I——E LM358 | yo = ! . — A0 D9 5 5| RIW
Mic In 4.7k = 14 § — Al D8 6 6| g
500k X124 6 o o — 5
y S4 — A3 D6 g ' DO
e a2 I D1
o o 2 9 D2
2 X5-1 1TRZ 4 A5 D4 ! || 10 p3
- — A7 D2 1
I_1JX52 : : * 5.5V GND2 |— 1 Bg
= X —| RsT RSTL |— Y
: o 3 L D7
Line In o w < GND RX1 15 A
eHZ o § = RAW ™ |— g8
xTe 8 S z
? | R9
| a
Tt 4.7k .
< S 8 © 4 uj
O g = 3
P
4 (%]
N IOHFJ_O.IHFJ_ EMe .
EHZ csT czT 9
N
Jumper:

X2-1 - X2-2 FILTER SELECTED
X2-1 - X2-3 NO FILTER SELECTED

NV1Q WA1OJN

TITLE: CW-Decoder 16pin
Document Number: REV:
Date: 2020-12-12 17:33 Sheet: 1/1




TERMINAL STRIP

(@)

SWITCH

DISPLAY

BATTERY

I N
. Wy Ay
I B A Y Iy Ay
- Ay ) Ay By
W === B Ll p L I Leeey
== . L plg b [ Loy
Il s N L plg I Leeey
. == o g g I Leeey
M| = L pg b Y Leeey
Il m=w Wi AN ey oy B
HE A Ay oy B
| = | =t [ =ttt
I =S A | Ay Leeey
N | Ay Ly
A e oy S B
A Iy A B
N Ay A B
(I Lt e —_—_—_————e L | [ L]
I = T L L
LLLLLLL = — e ——————— el L
N |y Y
g g e g gy Y (T )
I )y [
I “'\‘K I
POTI

CW-Decoder

TITLE

Box Layout

SCALE

1:1

REV 2 DATE

2020-04-01

[SHEET

1 of 1




—

—_ 3 -
e 13—
T |
| _ | N |
|
| k ~ m \‘J i |
: : DISPLAY ‘i lj :

LA | | A T B a1
| AR R
|
| | | 54
e v O
|
I R R T

S - 93 - -2

Note: Print this drawing and use as template for drilling the cover.

CW-Decoder

"™ Box - Cover

SCALE 4. REV DATE
1:1 2

2020-03-08

[SHEET

1 of 1




13

Clear Cover

Project Box - Cover

Display

Potentiometer

Mlw N [=

Jack Female

Toggle Switch

Spacer 10 mm

Nut M3

0 (N[O O

Poti Knop
Poti Hex Nut

©

10 | Poti Washer
11 | Screw M3 x 18 mm

12 | Knurled Nut
13 | Switch Hex Nut

14 | Washer 3mm

CW Decoder - Cover Assembly

NV1Q - WA10JN
200512-1




Part 4 and 3 glued to Box

Project Box

PCB

Battery Case

Spacer 5 mm

a|dlw|IN |

Screw M3 x 5 mm

Screw 2.6 x 6
Self Tapping

CW Decoder - Box Assembly

NV1Q

WA10JN

200512-1




Parts List

CW Decoder

Pcs.

Notes

Box

PCB

Display

Nano

15 Pins Nano

LM358

IC Socket

Audio Trafo

LED

Trimmer 10k

JEEL ) U U IS U S U DL 1\ O I S U G U G PN

Dupont cable 10cm, cut

—
-

Dupont cable 10cm

Diode

N |©

Resistors

180kQ

68kQ

20kQ

4.7kQ

4.3kQ

220Q

AlaNNlw]|—a |~

Capacitors

10uF

100nF

10nF

Switch

Poti

Jack female

NI==INNDINN|—=

Pins

N
»

Battery holder

S.T. Screw M2.6x6mm

Screw M3x5mm

Screw M3x18

Nut M3

Lock Washer

Spacer 10mm

Spacer 5mm

Mic. With cable

N IO NG N NG NG O TN

Page 1




	CW Decoder Doc (8).pdf
	CW Decoder Doc.pdf
	Page 1
	Page 2



